Example #5: Decide whether enough information is given to prove that the triangles are congruent. If there is
enough information, state the congruence postulate or theorem you would use.
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Chapter 4.5: Prove Triangles Congruent by ASA and AAS

Angle- Side-Angle (ASA) Congruent Postulate (Postulate 21):
If two angles and the inc\uded side of one

triangle are congruent to two angles and the included side

of a second triangle, then the two triangles are (‘A;ngv’unt
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Then AABC = A X“Z
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Angle-Angle-Side (AAS) Congruent Theorem (Theorem 4.6):

If two angles and a non-included side of one triangle are congruent E
Bemo ey

to two angles and the corresponding non-included side of a second

triangle, then the two triangles are COOSY wen e

i A LE SELY F
S: PE S yw
Then A DEF S AUVW
Congvuncz Stotement
Example #1: Can the triangles be proven congruent with the information given in the diagram?
If so, state the postulate or theorem you would use.
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Example #2: Prove.

Given: BD = BC,AD || BC
Prove: A ABD = A EBC
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Example #2: Prove. A
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Example #3: Prove.

Given: ZNKM = 2LMK, 2L = 2N

Prove: A NMK = A LKM
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Example #4: Prove.

Given: 21 = 24
CF bisects 2ACE
Prove: A CBF = A CDF
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Example #5: Prove. C

Given: CE L BD

LCAB = £CAD
Prove: A ABE = A ADE A
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